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int factorial (int n) {

int result;
if (n ==<:) { /% base case */ result = 1; }

else { /* recursive case #*/
result = n % factorial (n - 1);

}

return result;

}
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int factorial (int x7)-—{
int result; ,V';, / 0 @ ')QK(O)
if(g[== 0) { /% base case =/ result = 1; relQ
else { /* recursive case */ 727,7()

result = A4 = factorial (F—1); >-f;~c[( ( [

} 27y / <0
return resuit; §7 'pé‘é‘( )
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int factorial (int n) {
int result;

if(n == 0) { /* base case */ result = 1; }
else { /*» recursive case */

result = A#H, factorial (gymt);
} 4N

return result;




lint fib (inff m%{ 7’/ b, E(PM? {\’/L@

int re
if @ + base case */ result = 1; } yetav/ (
@ == 2)

else ’'if { /* base case */ result = 1; } VOP
else { /+» refursive case */

result = fib (n~"1) + fib (p<"2); €/ 3
return result; VPtac/
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public class StringTester {
public static void main(String[] args) {
String s = "abcd";
System.out.println(s ); /* false */

/* Characters in index r , 0) */ ]
String t0 = s A%k L,
System.out.println(t0); x g/

5

/* Characters in index range [0, 4) */
String tl = s.substring(0, 4);
System.out.println(tl); /% "abcd" =*/
/* Characters in index range [1, 3) */
String t2 = s.substring(l, 3); Z? H '
System.out.println(t2); /+ "bc" */ Y
String t3 = s.substring(0, 2) + s.substring(2, 4);
System.out.println(s.equals (t3)); /* true */
for(int i = 0; 1 < s.length(); i ++) {

System.out.print (s.charAt(1i));

J>

« "
;ystem.out.println(); 76?L1
}
} Stf'ﬂ Q-J\w!ogbf <D>%>
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